
8317 8317.5 8318 8318.5 8319
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 7190}

8317 8317.5 8318 8318.5 8319
cyclenum

2

2.5

3

3.5

4

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 7190}

8317 8317.5 8318 8318.5 8319
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 7190}

8317 8317.5 8318 8318.5 8319
cyclenum

0.5−

0

0.5

1

1.5

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 7190}

8317 8317.5 8318 8318.5 8319
cyclenum

7188

7188.5

7189

7189.5

7190

7190.5

7191

7191.5

7192

ru
n

run:cyclenum {run == 7190}

8317 8317.5 8318 8318.5 8319
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 7190}



8317 8317.5 8318 8318.5 8319
cyclenum

102.5−

102−

101.5−

101−

100.5−us
l_

1X

usl_1X:cyclenum {run == 7190}

8317 8317.5 8318 8318.5 8319
cyclenum

3

3.5

4

4.5

5

us
l_

4a
Y

usl_4aY:cyclenum {run == 7190}

8317 8317.5 8318 8318.5 8319
cyclenum

40.5

41

41.5

42

42.5

us
l_

4e
X

usl_4eX:cyclenum {run == 7190}

8317 8317.5 8318 8318.5 8319
cyclenum

16.2

16.4

16.6

16.8

17

17.2

17.4

17.6

17.8

18

18.2

18.4

us
l_

4e
Y

usl_4eY:cyclenum {run == 7190}

8317 8317.5 8318 8318.5 8319
cyclenum

39−

38.5−

38−

37.5−

37−

us
l_

12
X

usl_12X:cyclenum {run == 7190}

8317 8317.5 8318 8318.5 8319
cyclenum

7188

7188.5

7189

7189.5

7190

7190.5

7191

7191.5

7192

ru
n

run:cyclenum {run == 7190}



8317 8317.5 8318 8318.5 8319
cyclenum

134−

133.5−

133−

132.5−

132−

us
r_

1X

usr_1X:cyclenum {run == 7190}

8317 8317.5 8318 8318.5 8319
cyclenum

1.6

1.8

2

2.2

2.4

2.6

2.8

3

3.2

3.4

3.6

3.8

us
r_

4a
Y

usr_4aY:cyclenum {run == 7190}

8317 8317.5 8318 8318.5 8319
cyclenum

193.5

194

194.5

195

195.5

us
r_

4e
X

usr_4eX:cyclenum {run == 7190}

8317 8317.5 8318 8318.5 8319
cyclenum

11.6

11.8

12

12.2

12.4

12.6

12.8

13

13.2

13.4

13.6

13.8

us
r_

4e
Y

usr_4eY:cyclenum {run == 7190}

8317 8317.5 8318 8318.5 8319
cyclenum

38−

37.5−

37−

36.5−

36−

us
r_

12
X

usr_12X:cyclenum {run == 7190}

8317 8317.5 8318 8318.5 8319
cyclenum

7188

7188.5

7189

7189.5

7190

7190.5

7191

7191.5

7192

ru
n

run:cyclenum {run == 7190}



8317 8317.5 8318 8318.5 8319
cyclenum

32204

32204.5

32205

32205.5

32206

us
l_

co
il1

usl_coil1:cyclenum {run == 7190}

8317 8317.5 8318 8318.5 8319
cyclenum

6570.5

6571

6571.5

6572

6572.5

us
l_

co
il3

usl_coil3:cyclenum {run == 7190}

8317 8317.5 8318 8318.5 8319
cyclenum

4145.6

4145.8

4146

4146.2

4146.4

4146.6

4146.8

4147

4147.2

4147.4

4147.6

4147.8

us
l_

co
il4

usl_coil4:cyclenum {run == 7190}

8317 8317.5 8318 8318.5 8319
cyclenum

681−

680.5−

680−

679.5−

679−

us
l_

co
il6

usl_coil6:cyclenum {run == 7190}

8317 8317.5 8318 8318.5 8319
cyclenum

14850

14850.5

14851

14851.5

14852

us
l_

co
il7

usl_coil7:cyclenum {run == 7190}

8317 8317.5 8318 8318.5 8319
cyclenum

7188

7188.5

7189

7189.5

7190

7190.5

7191

7191.5

7192

ru
n

run:cyclenum {run == 7190}



8317 8317.5 8318 8318.5 8319
cyclenum

28504.5−

28504−

28503.5−

28503−

28502.5−

us
r_

co
il1

usr_coil1:cyclenum {run == 7190}

8317 8317.5 8318 8318.5 8319
cyclenum

5552.5−

5552−

5551.5−

5551−

5550.5−

us
r_

co
il3

usr_coil3:cyclenum {run == 7190}

8317 8317.5 8318 8318.5 8319
cyclenum

3581.2

3581.4

3581.6

3581.8

3582

3582.2

3582.4

3582.6

3582.8

3583

3583.2

3583.4

us
r_

co
il4

usr_coil4:cyclenum {run == 7190}

8317 8317.5 8318 8318.5 8319
cyclenum

910−

909.5−

909−

908.5−

908−

us
r_

co
il6

usr_coil6:cyclenum {run == 7190}

8317 8317.5 8318 8318.5 8319
cyclenum

18142.5

18143

18143.5

18144

18144.5

us
r_

co
il7

usr_coil7:cyclenum {run == 7190}

8317 8317.5 8318 8318.5 8319
cyclenum

7188

7188.5

7189

7189.5

7190

7190.5

7191

7191.5

7192

ru
n

run:cyclenum {run == 7190}



8317 8317.5 8318 8318.5 8319
cyclenum

425.5−

425−

424.5−

424−

423.5−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 7190}

8317 8317.5 8318 8318.5 8319
cyclenum

71−

70.5−

70−

69.5−

69−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 7190}

8317 8317.5 8318 8318.5 8319
cyclenum

29.6

29.8

30

30.2

30.4

30.6

30.8

31

31.2

31.4

31.6

31.8

1X
_c

oi
l7

1X_coil7:cyclenum {run == 7190}

8317 8317.5 8318 8318.5 8319
cyclenum

484−

483.5−

483−

482.5−

482−4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 7190}

8317 8317.5 8318 8318.5 8319
cyclenum

94−

93.5−

93−

92.5−

92−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 7190}

8317 8317.5 8318 8318.5 8319
cyclenum

29

29.5

30

30.5

31

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 7190}



8317 8317.5 8318 8318.5 8319
cyclenum

168.6

168.8

169

169.2

169.4

169.6

169.8

170

170.2

170.4

170.6

170.8

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 7190}

8317 8317.5 8318 8318.5 8319
cyclenum

41.5

42

42.5

43

43.5

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 7190}

8317 8317.5 8318 8318.5 8319
cyclenum

12.4−

12.2−

12−

11.8−

11.6−

11.4−

11.2−

11−

10.8−

10.6−

10.4−

10.2−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 7190}

8317 8317.5 8318 8318.5 8319
cyclenum

178.6

178.8

179

179.2

179.4

179.6

179.8

180

180.2

180.4

180.6

180.8

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 7190}

8317 8317.5 8318 8318.5 8319
cyclenum

24.5−

24−

23.5−

23−

22.5−

4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 7190}

8317 8317.5 8318 8318.5 8319
cyclenum

11−

10.5−

10−

9.5−

9−4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 7190}



8317 8317.5 8318 8318.5 8319
cyclenum

239.5−

239−

238.5−

238−

237.5−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 7190}

8317 8317.5 8318 8318.5 8319
cyclenum

86.5−

86−

85.5−

85−

84.5−12
X

_c
oi

l3

12X_coil3:cyclenum {run == 7190}

8317 8317.5 8318 8318.5 8319
cyclenum

2.5−

2−

1.5−

1−

0.5−12
X

_c
oi

l4

12X_coil4:cyclenum {run == 7190}

8317 8317.5 8318 8318.5 8319
cyclenum

7.6

7.8

8

8.2

8.4

8.6

8.8

9

9.2

9.4

9.6

9.8

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 7190}

8317 8317.5 8318 8318.5 8319
cyclenum

448−

447.5−

447−

446.5−

446−12
X

_c
oi

l7

12X_coil7:cyclenum {run == 7190}

8317 8317.5 8318 8318.5 8319
cyclenum

7188

7188.5

7189

7189.5

7190

7190.5

7191

7191.5

7192

ru
n

run:cyclenum {run == 7190}
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